Plot of Bell’s function for Arrangement #2

n(1]= (* book's plot, Figure 18.5 =)
b[th ] = Abs[Cos[th] "2 - Cos[2 th] 2] + Abs[Cos[th] "2 +1]

Plot[b[th Degree], {th, 0, 90}]

oufr= Abs[1+Cos[th]”] + Abs[Cos[th]® - Cos[2 th]?]

out[2]=
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n@El= (* correct plot =)
b2[th_] = Abs[(Cos[th]~2 - Sin[th]~2) - (Cos[2th]*2-Sin[2th]~2)] +
Abs[(Cos[th]~2 - Sin[th]~2) + 1]
Plot[b2[th Degree], {th, 0, 90}]

ouz= Abs |1+ Cos[th]? - Sin[th]?] « Abs[Cos[th]® - Cos[2 th]? - Sin[th]? - Sin[2 th]?]

25¢

20

Oul[d]=

1.0}




